Goteborgs BF
DM-mixed 2012-02-11

Partavling, 21 bord, 42 par. Antal brickor: 42. Medel: 840.0.

Plac Par Poang % Namn MID Klubb
1 3 1011 60.18 Eva Andersson - Lars Hogblom 49963 28397 BK Viva
2 31 1007 59.94 Pia Andersson - Arne Larsson 4874 12173 BK Everfresh
3 26 951 56.61 Tobias Torngvist - Ulrika Lindstrom 16484 26477 BK Everfresh
4 42 941  56.01 Per Ostlund - Annette Elfving 11850 52239 Ruterklubben i Umea - BK Everfresh
5 13 940 55.95 Jan Ahlgvist - Berit Fors 10458 4807 BK Lyx
6 28 937 55.77 Torbjorn Kareke - Agneta Kareke 13038 5081 Bohus Nations BS
7 16 936 55.71 Mikael Westerlund - Ulla Westerlund 9690 10090 BK Lyx - Asper6-Brannd BK
8 35 934 55.60 Jorgen Gustavsson - Elin Lindstrom Claessen 29428 30247 BS 53, Goteborg
9 6 916 54.52 Kate Runeberg - Jan Troberg 39691 4845 Salamandern/Wasa
10 10 910 54.17 Adam Kovasznay - Anna Wahlin 50874 16483 Salamandern/Wasa - BS 53, Géteborg
10 36 910 54.17 Vivianne Norling - Lars Norling 88947 6640 Salamandern/Wasa
12 21 905  53.87 Karin Nyberg - Rudi Knutson 5059 4857 Asperd-Brannd BK - Salamandern/Wasa
13 2 904 53.81 Mats Allgéwer - Ella Olsson 8386 20412 Molnlycke BS - BK Lyx
14 9 889 52.92  Britt Larsson - Olle Hedman 86952 310 Frolunda BS - BK Tre Sang, Helsingborg
15 12 887 52.80 Anders Erikson - Ylva Pyykko 3396 50062 BK Centrum
16 1 886 52.74 Bjorn Sorling - Els-Marie Sodergren 80438 15725 Bohus Nations BS - Asperd-Brannd BK
17 30 882 52.50 Gunilla Braunstein - Stellan Fredriksson 81519 2741 Kungsbacka BS
18 37 881 52.44 Lars-Ake Gustafsson - May Moore 17359 4867 MdlInlycke BS - BK Lyx
19 8 837  49.82 Staffan Gnosspelius - Anne-Marie Johansson 21291 21490 BK Lyx
20 19 836  49.76 Inger Wenander - Bjérn Wenander 9950 4856 Asper6-Brannd BK - Mdlnlycke BS
21 32 828  49.29 Borje Brag - Mia Akerblom 19633 27507 Partille BK - Atrans BK
22 15 822  48.93 Jurgen Schildt - Monica Hardner 7396 25458 Partille BK - Laholms BK
23 17 817  48.63 Anna Keereweer - Bosse Johansson 32899 34713 MéIndals BK
24 34 811  48.27 Bo Appelqvist - Inga Appelqgvist 10178 31328 MdlInlycke BS
25 5 806 47.98 Denny Andréasson - Anna Wallgren 38449 25447 Kronhusklubben - BK Lyx
26 7 799  47.56 Hakan Arebrink - Gun Hirvonen 85327 14428 Modlnlycke BS
27 23 797  47.44 Mile Calic - Ulla Liedholm 17900 4886 Partille BK - BK Everfresh
28 27 793  47.20 Robert Back - Lena Petersen 11174 12966 BK Lyx - Vargarda BS
29 14 790  47.02 Bror Bjerner - Bodil Winberg 5068 4862 Salamandern/Wasa - BK Lyx
30 25 787  46.85 Martin Lundberg - Ann-Charlotte Lundberg 26104 33033 BK Everfresh
31 22 773  46.01 Hans Barkman - Dorothy Lindoff 85786 2753 Kungsbacka BS
32 33 767  45.65 Mats Andihn - Ingrid Petersen 1695 12906 Molnlycke BS - BK Skogsstjarnan
33 24 761  45.30 Eva Johansson - Thomas Westberg 33465 42569 BK Everfresh - BS 53, Géteborg
34 29 760 45.24 Bo Andersson - Marie Myrhage 26105 94256 Frolunda BS
34 38 760  45.24 Johan Gromark - Evy Gromark 11851 4916 Partille BK
36 11 753 44.82 Gerd Sjoholm - Bjérn Sjéholm 40611 40612 Askims BK
37 20 751 4470 Gunnar Jansson - Annelie Jansson 51436 51435 BKLyx
38 4 739  43.99 Christoffer Dickhow - Birgit Andersson 8470 5116 BKLyx
39 18 736  43.81 Ann Bergqvist - Tony Elmroth 32898 44888 Moindals BK - BS 53, Géteborg
40 39 732 43.57 Reino Hirvonen - Gunvor Ragnar 17358 19739 Frélunda BS - Mdlnlycke BS
41 41 715 4256 Stefan Corneliusson - Annika Corneliusson 38625 38624 Askims BK
42 40 683  40.65 Goran Medén-Britth - Yvonne Andrén 5107 30076 Frélunda BS - Partille BK
1 « KD542 2 4 Kn1042 3 4« EKKn
Nord vKn43 Ost v K1032 Syd vD2
Ingen +D NS ¢ E92 ov + DKn9852
#ED76 *K3 72
487 4963 s E7 D 496542 410
v 852 vE10976 vED74 vKn985 v 876 v EK1043
¢ K1087652 ¢ E93 + K876 ¢ Knl104 + 106 +K
8 *42 D92 &E10765 #Kn54 #EKD986
4 EKNn10 4 K98653 « D873
vKD v6 v Kn95
¢+ Kn4 + D53 ¢ E743
#KKn10953 #Kn84 £103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
5 38 44 N+2 &4 480 33.0 7.0(27 16 4v V-4 a4 200 400 00|12 33 2NO-5 a7 500 40.0 0.0
9 34 44 N+2 46 480 33.0 7.0(28 15 24 S+2 49 170 38.0 20|28 17 3¢DN= A 470 380 20
11 32 44 N+2 &4 480 330 7.0(41 2 4vV-3 ] 150 36.0 40| 6 39 5v0-1 ¢ A 100 340 6.0
23 20 44 N+2 &4 480 330 7.0(29 14 34 S= +6 140 340 6.0(23 22 540-1 ¢ A 100 340 6.0
26 17 44 N+2 43 480 330 70| 3 40 4v0O-2 +3 100 29.0 11.0(38 7 5v0-1 &T 100 340 6.0
28 15 44 N+2 45 480 33.0 7.0(30 13 44 V-2 ] 100 29.0 11.0(25 20 4¢ N-1 vA -50 30.0 10.0
36 7 44 N+2 46 480 330 7.0(39 4 4v V-2 a4 100 29.0 110| 4 41 5¢DN-1 #A -100 27.0 13.0
37 6 44 S+2 43 480 330 70|42 1 3v0O-2 v3 100 29.0 11.0|13 32 5¢ N-2 vA -100 27.0 13.0
3 40 44 N+1  +A 450 16.0 240| 5 38 INV-1 a4 50 20.0 20.0(10 35 44 O= ¢ A -130 22.0 18.0
8 35 54 N= ¢ A 450 16.0 24.0| 8 35 INV-1 a2 50 20.0 20.0(19 26 44 O= &T -130 22.0 18.0
18 25 44 N+1  ¢A 450 16.0 240| 9 34 4v O-1 +4 50 20.0 20.0|37 8 4#0= ¢ A -130 22.0 18.0
22 21 44 N+1  ¢A 450 16.0 24.0|11 32 4v0O-1 45 50 200 200 1 3 3vO+1 A -170  17.0 23.0
24 19 44 N+1  ¢A 450 16.0 24.0|22 21 3v V-1 L) 50 20.0 20.0(34 11 3v O+1 a7 -170 17.0 23.0
30 13 44 N+1 vA 450 16.0 24.0|18 25 44 N-1 vA -100 11.0 29.0(31 14 5¢DN-2 &K -300 12.0 28.0
33 10 44 N+1  ¢A 450 16.0 24.0|23 20 34 S-1 *7 -100 11.0 29.0({40 5 5¢DN-2 v¥K -300 12.0 28.0
39 4 54 N= ¢ A 450 16.0 24.0|26 17 34 N-1 +J -100 11.0 29.0(42 2 5¢DN-2 3 -300 12.0 28.0
42 1 464 N+1 3 450 16.0 24.0|33 10 44 S-1 vA -100 11.0 29.0( 9 36 44DS-3 v7 -500 8.0 32.0
12 31 54 S= *7 400 3.0 37.0|12 31 2¢vV+1l ¢3 -140 4.0 36.0|24 21 4v V= +Q -620 3.0 37.0
27 16 5#S= 2 400 3.0 37.0|36 7 3vV= L) -140 4.0 36.0|27 18 4v O= ¢ A -620 3.0 37.0
29 14 54 S= v5 400 3.0 370|137 6 3vV= ¢ A -140 40 36.0|29 16 4v O= ¢ A -620 3.0 37.0
41 2 5#S= 48 400 3.0 37.0(24 19 3vV+1l & -170 0.0 40.0|30 15 4v O= ¢A -620 3.0 37.0
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4 «D8 5 « KDKn10932 6 « Kn104
Vast v5 Nord v 973 Ost v 853
Alla + KD52 NS 465 ov ¢ KKn
#EKn10963 &D #109653
4 K1095 &E7 +E6 4754 4 K963 472
v 108742 vEDKn vE v Kn865 v2 vKD107
¢1043 + E87 ¢ EKKn104 ¢ 982 ¢ E1095 ¢ D8762
&K #D8754 &#EKKN63 4982 #EKD8 &72
 Kn6432 8 « ED85
v K963 vKD1042 v EKn964
¢ Kn96 + D73 ¢43
&2 #10754 +Kn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
23 22 2#0-3 a4 300 40.0 0.0|35 12 6NDO-3 48 500 40.0 0.0|24 23 2¢DS= #A 470 40.0 0.0
1 3 4v V-2 ¢+ K 200 37.0 3.0(32 15 4v O -7 a2 350 380 20|20 27 5#V-3 v3 300 380 20
25 20 2¢ O-2 a4 200 370 3.0(13 34 640-3 48 150 340 6.0(35 12 3NO-1 v3 100 350 5.0
12 33 3NO-1 a2 100 340 6.0(29 18 6% V-3 46 150 340 6.0[(41 6 4¢ O-1 vA 100 350 5.0
6 39 24 N= 4 A 90 31.0 9.0(38 9 6NV-3 4K 150 340 6.0| 7 40 2¢vS-1 *A -50 31.0 9.0
42 2 24 N= v3 90 310 90|14 33 64 O-2 *Q 100 29.0 11.0(26 21 24 N-1 &2 -50 31.0 9.0
37 8 3#N-1 vA -100 28.0 12.0(20 27 64D O-1 48 100 29.0 11.0(29 18 3vDS-1 #A -100 27.0 13.0
27 18 2v V= ¢+ K -110 23.0 17.0(25 22 5# V-1 +K 50 22.0 18.0(30 17 1vDS-1 #A -100 27.0 13.0
28 17 2v V= *A -110 23.0 17.0(26 21 54 0O-1 vK 50 22.0 18.0(10 37 44 O= ¢*4 -130 18.0 22.0
30 15 2v V= +Q -110 23.0 17.0(28 19 6¢ V-1 +Q 50 220 18.0|11 36 3¢ O+1 vA -130 18.0 22.0
34 11 2v V= &A -110 23.0 17.0(31 16 5¢ V-1 *Q 50 22.0 18.0(13 34 2¢ O+2 #4 -130 18.0 22.0
4 41 29 V+1  #A -140 160 240(41 6 640-1 48 50 220 18.0(25 22 44 O= LN -130 18.0 22.0
24 21 29y V+1 ¢K -140 16.0 240| 2 4 4e¢ V= &K -130 15.0 25.0(31 16 44 O= +3 -130 18.0 22.0
31 14 2vV+1 ¢Q -140 16.0 24.0(30 17 4a V= +K -130 15.0 25.0(39 8 3¢ O+1 #J -130 18.0 22.0
10 35 2v V+2  #A -170 11.0 290 5 1 3NV= s K -400 9.0 31.0(42 3 4¢ O= &2 -130 18.0 22.0
13 32 3v O+1 &2 -170 11.0 29.0(10 37 5¢ V= &K -400 9.0 31.0(38 9 2NO+1 +6 -150 10.0 30.0
19 26 24 S-2 +3 -200 7.0 33.0|24 23 3NV= +K -400 9.0 31.0(32 15 2NO+2 v4 -180 8.0 32.0
38 7 3v0O+2 4Q -200 70 330|139 8 5¢ V= s K -400 9.0 31.0| 5 1 2vDS-2 #A -300 6.0 34.0
29 16 3#DN-2 &A -500 40 36.0| 7 40 3NV+1l &K -430 40 360 2 4 3NO= v4 -600 3.0 37.0
9 36 3NV= &T -600 20 38042 3 3NO+2 +3 -460 2.0 38.0|14 33 3NO= v6 -600 3.0 37.0
40 5 4v V= *A -620 0.0 40.0|11 36 54aDN-4 8 -1100 0.0 400|128 19 3NO+1 #J -630 0.0 40.0
7 & Kn2 8 10643 9 « EKKNn109
Syd v 109 Vast v EK2 Nord v72
Alla + DKn8 Ingen +3 ov ¢+ ED4
#ED9732 #D10953 K43
4109763 & KD5 4752 « EKDKn8 «D4 476
v 832 v KKn764 vD10985 vKn4 vKD1098643 v EKn5
¢ E95 + K104 + D106 + KKn42 ¢ Kn + K109876
#Kn6 +K10 *K2 »E8 #Kn9 #D5
« E84 49 #8532
vEDS5 v 763 v-
47632 ¢ E9875 ¢ 532
#854 #Kn764 #E108762
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
1 7 3v0-2 &4 200 40.0 00| 6 2 44 0-1 v3 50 36.0 40|15 36 54DN+2 vA 850 40.0 0.0
36 13 2NS+1 v3 150 380 20|21 28 44 0-1 v6 50 36.0 4.0(31 20 5vDV-3 &K 800 380 20
31 18 24 N+2 v3 130 360 4.0(29 20 44 O-1 ¢ A 50 360 40| 2 8 44 S+3 vK 510 30.0 10.0
8 41 24 N+1 &K 110 29.0 11.0(31 18 44 O-1 v6 50 36.0 4.0(13 38 54 N+2 &7 510 30.0 10.0
12 37 3#N-= oK 110 29.0 11.0(39 10 44 0O-1 ¢ A 50 36.0 4.0(26 25 44 N+3  ¢5 510 30.0 10.0
15 34 3&#N-= &K 110 29.0 11.0(26 23 34 O= 2 -140  29.0 11.0(27 24 44 N+3 T 510 30.0 10.0
21 28 3&N-= +K 110 29.0 11.0(30 19 14 O+2 7 -140 29.0 11.0(30 21 44 N+3 vA 510 30.0 10.0
32 17 3# N= oK 110 29.0 11.0(12 37 2NO+2 ¢7 -180 26.0 14.0(34 17 44 N+3 4 510 30.0 10.0
42 4 34 N= v3 110 290 110 1 7 54DN-2 &A -300 240 16.0(42 5 44 N+3 3 510 30.0 10.0
3 5 2v0= &5 -110 150 25.0( 3 5 3NO= &4 -400 22.0 18.0(28 23 4¢vDV-2 4K 500 20.0 20.0
6 2 24 0= +3 -110 15.0 25.0( 8 41 44 O= *6 -420 14.0 26.0(32 19 4vDV-2 A 500 20.0 20.0
11 38 24 O= vA -110 15.0 25.0(11 38 44 O= »6 -420 140 26.0(33 18 4vDO-2 4A 500 20.0 20.0
25 24 24 O= vT -110 15.0 25.0(14 35 44 O= &7 -420 140 260 7 3 3NN+3 5 490 16.0 24.0
26 23 2v O= LY -110 15.0 25.0(15 34 44 O= v7 -420 14.0 26.0(12 39 44 N+2 YA 480 11.0 29.0
27 22 2v O= &4 -110 15.0 25.0(25 24 44 O= v7 -420 140 26.0(16 35 44 N+2 YA 480 11.0 29.0
29 20 2v O = &8 -110 15.0 25.0(32 17 44 O= &6 -420 140 26.0(37 14 44 N+2 YA 480 11.0 29.0
39 10 24 O= s A -110 15.0 25.0(42 4 44 O= v3 -420 14.0 26.0(40 11 54 N+1 vA 480 11.0 29.0
30 19 24 O+1 44 -140 40 36.0(27 22 3NO+1 7 -430 40 360 4 6 5vV-3 s A 300 6.0 34.0
33 16 24 O+1 #4 -140 40 36.0[36 13 3NV+1 &5 -430 40 360 9 1 34aN+4 46 260 4.0 36.0
40 9 3vO= &8 -140 40 36.0[40 9 3NO+1 &8 -430 40 36.0(22 29 5vDV-1 &A 200 2.0 38.0
14 35 3NS- 43 -200 0.0 40.0|33 16 3NO+2 7 -460 0.0 40.0|41 10 44 S+2 +J 170 0.0 40.0
10 107 11 «D 12 543
Ost v K10753 Syd v E542 Vast v 9542
Alla + D106 Ingen + KKn95 NS .-
K97 #K643 #E86542
« ED864 & KKn3 4 K1053 4 Kn9764 4« KKn10 4 ED72
vED v 64 v 963 vD1087 v K63 v E87
¢ K842  #Kn93 + D82 + 10 ¢+ DKn8652 ¢ E10743
#103 #E8542 *752 #Kn9o8 &D &K
# 952 « E82 # 986
v Kn982 v KKn v DKn10
¢ E75 ¢+ E7643 + K9
#DKn6 #ED10 #Kn10973
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
26 25 34 V-3 oT 300 40.0 00| 8 4 6NN+1 T 1020 40.0 00| 3 9 3NO-2 &7 100 350 5.0
40 11 4e V-2 oT 200 380 20| 3 9 6NS= 45 990 36,0 40(13 40 3NO-2 &T 100 350 5.0
2 8 4e V-1 +6 100 340 6.0[10 2 6NN= a7 990 36.0 40|17 36 7¢ V-2 &A 100 350 5.0
27 24 44 V-1 v3 100 340 6.0[16 37 6NS= v9 990 36.0 40(31 22 3NO-2 &T 100 350 5.0
31 20 4a V- v5 100 340 6.0(32 21 64 S+1 &5 940 310 90|32 21 3NO-2 &3 100 350 5.0
9 1 24V= v7 -110 30.0 10.0(42 6 64 N+1 3 940 310 9.0|35 18 64 V-2 vQ 100 350 5.0
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12 39 24 V41 &7 -140 21.0 190 1 11 6¢ S= 46 920 240 16.0|10 2 6¢ V-1 a5 50 24.0 16.0
13 38 24 V+1 v5 -140 21.0 19.0(13 40 6¢ S= v9 920 240 16.0|16 37 6¢ V-1 *A 50 24.0 16.0
16 35 34 V= oT -140 21.0 19.0 (27 26 6¢ S= a4 920 240 16.0(27 26 6¢ V-1 &A 50 240 16.0
28 23 24 V+1 a7 -140 21.0 19.0(33 20 6¢ S= *2 920 24.0 16.0|28 25 64 V-1 *A 50 24.0 16.0
30 21 24 V+1 ¢6 -140 21.0 19.0(34 19 6¢ S= v9 920 240 16.0|41 12 6¢ V-1 *A 50 24.0 16.0
33 18 24 V+1 a7 -140 21.0 19.0(38 15 3NS+4 3 520 18.0 22.0| 1 11 5¢ V= &A -400 10.0 30.0
34 17 34 V= +6 -140 21.0 19.0(17 36 3NS+3 43 490 110 29.0| 5 7 5¢ V= v9 -400 10.0 30.0
41 10 24 V+1 ¢33 -140 21.0 19.0(23 30 3NS+3 v¥9 490 110 29.0| 8 4 5¢ V= a5 -400 10.0 30.0
7 3 2NV+1 3 -150 12.0 28.0(28 25 3NS+3 46 490 11.0 29.0|14 39 5¢ V= &A -400 10.0 30.0
22 29 24 V+2 49 -170 9.0 31.0(31 22 3NS+3 43 490 110 29.0|23 30 5¢ V= *A -400 10.0 30.0
42 5 24 O+2 ¢3 -170 9.0 31.0(35 18 3NS+3 &2 490 110 29.0|29 24 5¢ V= *A -400 10.0 30.0
15 36 3v S-3 oA -300 6.0 34.0(41 12 3NS+3 45 490 11.0 29.0|33 20 5¢ V= &A -400 10.0 30.0
4 6 4e V= v3 -620 2.0 38.0(29 24 3NS+2 &5 460 40 36.0|38 15 5¢ V= *A -400 10.0 30.0
32 19 4a4 V= a7 -620 2.0 380 5 7 6NS-1 v6 -50 10 39.0|42 6 5¢ O= v3 -400 10.0 30.0
37 14 44 V= v3 -620 2.0 38.0(14 39 6NN-1 8 -50 1.0 39.0|34 19 54 O= vQ -450 0.0 40.0
13 « KKn10 14  Kn94 15 « 1097
Nord v 105 Ost v 942 Syd v K9632
Alla ¢ K952 Ingen + 854 NS ¢ 54
#KKn109 #KKn76 #EDKn
4E9753 D8 K102 D75 4 EKn 4 K82
v K32 v Kn874 v K106 v D875 v 104 vEDS8
¢ 74 ¢ DKn108 ¢ Kn7 ¢ K1062 ¢ D10976 ¢ EKKn32
*732 «D64 #D10532 #84 #K832 *64
642 » E863  D6543
vED96 v EKn3 vKn75
¢ E63 ¢ ED93 +8
#E85 +E9 #10975
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
34 21 3NN+1 4Q 630 39.0 10|36 19 3NN= &2 400 40.0 0.0(33 24 6¢ O-1 T 50 40.0 0.0
35 20 3NN+1 +Q 630 39.0 10|35 20 INS+2 &2 150 380 20| 5 11 2¢ V+2 T -130 380 20
17 38 3NN= *Q 600 350 50|14 41 14 S+2 v6 140 350 50| 2 14 5¢ O= &7 -400 34.0 6.0
33 22 3NN= *Q 600 350 50|30 25 14 S+2 ¢ 140 350 50|12 4 3NO= &T -400 34.0 6.0
2 12 INN+2 +Q 150 320 8.0(28 27 INS+1 &5 120 320 8042 8 5¢ 0= v3 -400 340 6.0
15 40 2NS= 3 120 28.0 120| 6 8 1¢ S+2 +J 110 29.0 11.0| 3 13 3NO+1 &5 -430 21.0 19.0
32 23 2NN= *Q 120 28.0 12.0(34 21 14 S+1  #3 110 29.0 11.0| 7 9 3NO+1 &3 -430 21.0 19.0
42 7 2NN= v3 120 28.0 120 2 12 1¢ S+1 42 90 220 18.0(15 1 3NO+1 «4 -430 21.0 19.0
18 37 2¢ N= *Q 90 230 170 9 5 INS= 3 90 22.0 18.0|16 41 3NO+1 ¥v5 -430 21.0 19.0
24 31 24 N= «Q 90 23.0 17.0(17 38 1¢ S+1  #3 90 22.0 18.0|18 39 3NV+l v6 -430 21.0 19.0
113 3NN-1 +J -100 13.0 27.0(33 22 1l¢ S+1 ¢ 90 220 18.0(19 38 3NO+1 &3 -430 21.0 19.0
6 8 3NN-1 *Q -100 13.0 27.0(39 16 INS= *2 90 220 18.0|29 28 3NV+l v2 -430 21.0 19.0
9 5 3NN-1 oT -100 13.0 27.0(42 7 1la N= v3 80 16.0 24.0|30 27 3NO+1 &T -430 21.0 19.0
11 3 3NN-1 *Q -100 13.0 27.0| 4 10 1¢ S= *2 70 12.0 28.0|31 26 3NO+1 v3 -430 21.0 19.0
28 27 3NN-1 *4 -100 13.0 27.0(11 3 1¢ S= *2 70 120 28.0|37 20 3NO+1 &3 -430 21.0 19.0
29 26 3NN-1 ¢+ Q -100 13.0 27.0(18 37 1¢ S= *J 70 120 28.0|10 6 3NO+2 vJ -460 5.0 35.0
30 25 2NS-1 3 -100 13.0 27.0(15 40 3NS-1 *2 -50 70 33.0(25 32 3NO+2 a7 -460 5.0 35.0
36 19 2NS-1 3 -100 13.0 27.0(32 23 3NN-1 v5 -50 70 33.0(34 23 3NO+2 43 -460 5.0 35.0
4 10 3NS-2 a4 200 2.0 38.0( 1 13 2NN-2 v5 -100 3.0 37.0(35 22 3NO+2 42 -460 5.0 35.0
14 41 3NS-2 3 200 2.0 38.0(24 31 INS-2 &3 -100 3.0 37.0(36 21 3NO+2 «4 -460 5.0 35.0
39 16 3NS-2 3 200 2.0 38.0(29 26 3NN-3 v7 -150 0.0 40.0(40 17 3NO+2 a2 -460 5.0 35.0
16 « 10732 17 484 18 » KKn8543
Vast v 94 Nord v KDKn4 Ost vKn
ov +10 Ingen ¢ 109652 NS ¢ ED52
#EKn10986 94 #ED
4D85 #E6 4 D975 & KKn102 .- 410762
vE105 vKDKn83 v97632 v- vED1086 vK942
49652 ¢ EKn7 +D87 ¢ EKKn ¢ KKn104 +3
D75 %432 *Kn #EKD1065 #10974  #K532
& KKn94 « E63 «ED9
v 762 vE1085 v 753
¢ KD843 +43 ¢ 9876
&K #8732 #Kn86
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr Ut Res Poéang
16 41 4v O-2 &K 200 300 10| 3 15 3NO-1 *2 50 400 0.0(17 1 44 N+1 &3 650 40.0 0.0
18 39 3v O-2 &K 200 390 10|13 5 3#0+3 3 -170 380 20| 3 15 44 N= +3 620 320 8.0
2 14 3v0-1 &K 100 340 60|11 7 3NO= 8 400 36.0 4.0(13 5 44 N= vK 620 320 8.0
31 26 3vO-1 v2 100 340 6.0|17 1 4eV= vK -420 31.0 9.0(16 2 44 N= v4 620 320 8.0
35 22 4v O-1 v2 100 340 6.0(30 29 54 0+1 &A -420 31.0 9.0(19 40 44 N= +3 620 320 8.0
511 24 S-1 &5 50 27.0 13035 24 54O+l &2 -420 31.0 9.0(26 33 44 N= v2 620 320 8.0
10 6 34S-1 vA -50 27.0 13.0|37 22 54 0+1 YA -420 31.0 9.0(34 25 44 S= vA 620 320 8.0
36 21 34 N-1 vK -50 27.0 13.0|26 33 3NO+1 &3 -430 26.0 14.0(37 22 44 N= +3 620 320 8.0
40 17 34 N-1 vK 50 27.0 130| 8 10 54 O+1 +6 -480 20.0 20.0(32 27 34 N+2 v4 200 24.0 16.0
7 9 34DN-1 v¥K -100 20.0 20.0({20 39 54 O+1 ¢4 -480 20.0 20.0({42 9 24 N+2 v3 170 22.0 18.0
15 1 44 S-2 vA -100 20.0 20.0(31 28 44 V+2 vQ -480 20.0 20.0(20 39 34 N= +3 140 19.0 21.0
37 20 3#DN-1 vK -100 20.0 20.0(38 21 44 O+2 3 -480 20.0 20.0(36 23 34 N= v5 140 19.0 21.0
42 8 2v 0= v3 -110 16.0 24.0({42 9 54 O+1 v3 -480 20.0 20.0(38 21 5vDV-1 &3 100 16.0 24.0
29 28 INO+1 K -120 140 26.0| 6 12 6+ 0= vA -920 13.0 270( 8 10 4v O-1 vJ 50 14.0 26.0
12 4 3v0O= &K -140 9.0 31.0(18 41 64 0= vA -920 13.0 27011 7 44 N-1 +3 -100 9.0 31.0
19 38 3v O= &K -140 9.0 31.0( 4 14 64 O= vA -980 5.0 35.0(30 29 44 N-1 +3 -100 9.0 31.0
30 27 3v O= &K -140 9.0 310(16 2 64 O= vA 980 5.0 350(31 28 44 N-1 v4 -100 9.0 310
34 23 2v O+1 «K -140 9.0 31.0(19 40 64 O= 3 -980 5.0 35035 24 44 N-1 v4 -100 9.0 31.0
25 32 INO+2 K -150 3.0 37.0(32 27 64 O= vA 980 5.0 350 6 12 44aDN-1 v4 -200 3.0 37.0
33 24 3¢ S-3 vA -150 3.0 37.0(34 25 64 O= vA 980 5.0 350(18 41 54 N-2 v2 -200 3.0 370
3 13 2v0+2 #K -170 0.0 40.0(36 23 64 O= 46 980 5.0 350 4 14 4v V= vJ -420 0.0 40.0
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19 « 106 20 #8543 21 « 10963
Syd vKn102 Vast vE52 Nord v KKn9
ov ¢ EKn73 Alla ¢ES5 NS + K93
#E953 #K982 #EKn2
49 & KD87 4KD7  4Knl02 & K54 « EDKn2
vD983 v754 vKKn6 v1074 v E65 v 102
¢ D542 ¢ K986 ¢+ D873 ¢ KKn102 ¢ D104 ¢ EKn7
#K1062 #Kn7 #EDKn #654 #D1085 #9764
 EKNn5432 «E96 87
v EK6 v D983 vD8743
+10 4964 ¢ 8652
+D84 #1073 +K3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
38 44 S+1 49 450 400 00| 4 16 3NO-1 v8 100 38.0 20|22 41 44 O-3 &K 150 40.0 0.0
21 48 S = 49 420 370 30|14 6 3NV-1 a5 100 380 20| 5 17 34 0-2 v3 100 38.0 20
37 44 S = v8 420 37.0 3.0[21 40 3NV-1 a5 100 380 20| 6 16 3NO-1 v3 50 350 5.0
27 3NN = +8 400 340 6.0 1 19 INV= a4 90 310 9.0(|38 25 34 O-1 v4 50 350 5.0
32 24 S+3  v8 200 320 8.0|31 30 1¢ V+1 &4 90 310 90| 8 14 INN-1 *6 -100 29.0 11.0
18 24 S+1  v8 140 27.0 13.0(33 28 INV= 3 90 310 9.0(13 9 1aN-1 vT -100 29.0 11.0
20 264 S+1 &2 140 27.0 13.0(36 25 INV= 45 -90 310 9.0|33 30 INN-1 &9 -100 29.0 11.0
35 24 S+1  v8 140 27.0 13.0| 9 11 1le¢ V+2 46 -110 24.0 16.0(40 23 14 N-1 vT -100 29.0 11.0
39 24 S+1  v3 140 27.0 13.0(18 2 1le V+2 ¢A -110 240 160(18 4 INV+1 vK -120 20.0 20.0
4 24 S= v8 110 220 18.0(32 29 1le V+2 ¢A -110 24.0 16.0(28 35 2NO= a7 -120 20.0 20.0
5 44 S-1 v3 -50 15.0 25.0| 7 13 2NO= v8 -120 16.0 24.0(32 31 2NO= v3 -120  20.0 20.0
14 44 S-1 v3 50 15.0 25012 8 INV+1l 48 -120 16.0 24.0(34 29 2NO= v5 -120 20.0 20.0
31 44 S-1 49 50 15.0 25.0|20 41 INV+1 «4 -120 16.0 24.0(36 27 2NO= 49 -120 20.0 20.0
33 44 S-1 v3 -50 15.0 25.0|35 26 2NV = a2 -120 16.0 240(21 1 24 O+l +6 -140 14.0 26.0
36 44 S-1 49 -50 15.0 25.0|39 22 2NO= v8 -120 16.0 24.0(39 24 INV+2 vK -150 12.0 28.0
42 SN N-1 v3 -50 15.0 25.0|37 24 INV+2 «4 -150 8.0 320| 2 20 14aDN-1 T -200 8.0 32.0
9 44 S-2 *6 -100 7.0 33.0|38 23 INV+2 &2 -150 8.0 320|19 3 14 N-2 v6 -200 8.0 32.0
12 44 S -2 49 -100 7.0 33.0|42 10 INO+2 3 -150 8.0 32.0|42 11 14 N- v3 -200 8.0 32.0
1 3NN -3 +8 -150 3.0 370 5 15 3NV= *2 -600 30 370|15 7 3NO= 8 -400 3.0 37.0
17 3N N-3 v4 -150 3.0 370|117 3 3NV= 8 -600 3.0 37.0|37 26 3NV= 46 -400 3.0 37.0
7 3N N -4 ) -200 0.0 40.0|27 34 3NV+1 &2 -630 0.0 40.0|10 12 3NV +1 &T -430 0.0 40.0
22 « KD32 23  Kn10732 24 « DKn1098
Ost v K52 Syd v K98 Vast v 82
ov ¢+ D2 Alla + K4 Ingen ¢ 107
#KD98 987 #10743
484 4« Kn106 LX) « KD6 «EK 4652
vED86 vKn9743 vED10754 vKn vE976 vK1054
¢EKn3 ¢10874 ¢ Kn5 47632 ¢ ED65 ¢ Kn984
#EKn42 #6 *K654 #EDKnN32 #D85  #Kn9
«E975 « E954 4743
v10 v 632 v DKn3
¢ K965 + ED1098 ¢ K32
#10753 «10 *EK62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
21 4e S = vA 420 400 0.0(14 10 3aDN= ¥vJ 730 40.0 0.0 9 15 3NV-2 +Q 100 40.0 0.0
2 24 V-2 *K 200 340 6.0(42 12 5v O-3 v3 300 380 20| 3 21 4v V-1 2Q 50 340 6.0
8 4y V -2 &K 200 340 60| 7 17 3NO-2 a5 200 31.0 9.0(11 13 4v V-1 +Q 50 340 6.0
15 4y V -2 2 200 340 6.0(20 4 3NO-2 +8 200 31,0 90|23 1 3v0O-1 A 50 340 6.0
36 3yDO-1 &7 200 340 6.0|34 31 3NO-2 ¢7 200 31.0 9.0|29 36 4v V-1 4Q 50 340 6.0
42 4v O -2 v3 200 340 6.0(37 28 3NO-2 *T 200 31.0 9.0|34 31 2NV-1 «Q 50 340 6.0
6 3& N= L) 110 27.0 13.0|40 25 3NO-2 +5 200 31.0 90| 7 17 24 N-1 ¢J -50 28.0 12.0
22 24 S= vA 110 27.0 13.0|41 24 3NO-2 +8 200 31.0 90| 6 18 24 N-2 *J -100 25.0 15.0
10 3y V-1 oK 100 21.0 190 9 15 34 N= vJ 140 230 170|16 8 34 N-2 *] -100 25.0 15.0
18 2y V-1 oK 100 21.0 19.0(22 2 24 N+1 vJ 140 23.0 17.0|38 27 3¢ V+1 «Q -130 22.0 18.0
28 3v V-1 *Q 100 21.0 19.0| 3 21 540-1 ¢ A 100 170 23.0|19 5 3vV= 2Q -140 19.0 21.0
40 3y V-1 v3 100 21.0 190(19 5 3v V-1 +K 100 170 23.0|39 26 3v O= &A -140 19.0 21.0
37 34S-1 45 -50 15.0 25.0|38 27 4v V-1 +K 100 17.0 23.0|33 32 34 N-3 *] -150 16.0 24.0
38 24 N-1 *6 -50 15.0 25.0|39 26 4v V-1 a2 100 170 23.0(14 10 3v V+1l ] -170  13.0 27.0
19 la N-2 *2 -100 12.0 28.0(33 32 2v V= &9 -110 12.0 28.0(35 30 3v V+1 «Q -170  13.0 27.0
13 2y V= v2 -110 8.0 320|16 8 3#0+1 +A -130 10.0 30.0(37 28 INV+3 «Q -180 10.0 30.0
34 2y O= ¢+5 -110 8.0 32.0(|35 30 420+l &A -150 8.0 32.0|42 12 24DN-2 v¥Q -300 8.0 32.0
39 2y V= &K -110 8.0 320|123 1 2v0O+2 6 -170 6.0 34020 4 4v V= +Q -420 3.0 37.0
5 29 O+1 +6 -140 20 380| 6 18 2v V+3 42 -200 20 380|122 2 4v V= &K -420 3.0 37.0
32 29 O+1 48 -140 20 38.0|11 13 2¢y V+3 4] -200 2.0 38.0|40 25 4v V= 2Q -420 3.0 37.0
33 3y V= v2 -140 2.0 38.0|29 36 2v O+3 T -200 2.0 38.0|41 24 4v V= +Q -420 3.0 37.0
25 442 26 « K9832 27 8
Nord vKn873 Ost vED752 Syd v DKn
oV ¢ K9853 Alla +3 Ingen 4108532
#Kn5 %93 #E9732
49 «D1083 4Knl07 465 «DKn54 4107632
v KD6 v 952 vK963 vKn vK76 v 953
¢ 42 ¢+ ED107 ¢ EKn54 ¢ KD107 ¢E74 ¢ DKn
#ED108432 #96 *75 #DKn10864 #D65 #K104
# EKKn765 «ED4 » EK9
vE104 v 1084 v E10842
¢ Kn6 49862 + K96
*K7 #EK2 #Kn8
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
38 4a V-1 a4 100 400 00| 7 19 44 N+1 #Q 650 350 50| 8 20 34 O-3 &5 150 39.0 1.0
21 34 S-1 vK 50 380 20|12 14 44 N+1 #J 650 350 50|11 17 INN+2 &2 150 39.0 10
4 34 S-2 +6 -100 320 80(17 9 44 N+1 vJ 650 350 5031 38 2vS+1 4Q 140 36.0 4.0
15 34 S-2 *A -100 320 80|21 5 54S= *7 650 350 5.0(42 14 3¢ N+1 v3 130 340 6.0
35 34 S-2 &A -100 32.0 8.0(38 29 44 N+1  vJ 650 350 5016 12 2NN= a2 120 30.0 10.0
41 34 S-2 vK -100 320 8.0(40 27 4vy N+1 #Q 650 350 50|35 34 INN+1 &2 120 30.0 10.0
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42 13 24 N-2 v3 -100 32.0 8.0(42 13 44 N= v3 620 28.0 12.0|36 33 INS+1 &4 120 30.0 10.0
23 3 3#V+l a4 -130 26.0 14015 11 2v V- +3 500 26.0 14.0|21 7 3¢ S= a5 110 26.0 14.0
1 25 24 S-3 vK -150 21.0 190( 1 25 24 N+4  #Q 230 240 160 2 26 34 O-2 & 100 22.0 18.0
7 19 32V+2 44 -150 21.0 19.0( 4 22 3v N+2 #Q 200 190 21.0(24 4 34DO-1 &J 100 22.0 18.0
8 18 34 S-3 *A -150 21.0 190( 8 18 34 N+2 #Q 200 19.0 21.0|37 32 34DO-1 #J 100 22.0 18.0
30 37 34 S-3 vK -150 21.0 19.0(10 16 34 N+2 vJ 200 19.0 21.0|] 9 19 INN= a2 90 17.0 23.0
36 31 2NO+2 4A -180 16.0 24.0({20 6 24 N+3 #Q 200 19.0 21.0|13 15 INN= a5 90 17.0 23.0
34 33 3454 *A -200 14.0 26.0(30 37 24 N+2 #Q 170 110 29.0| 5 23 1v S= &5 80 14.0 26.0
20 6 34DS-2 v¥K -300 11.0 29.0(34 33 24 N+2 #Q 170 11.0 29.0| 1 27 34 0-1 LN, 50 12.0 28.0
39 28 24DS-2 49 -300 11.0 29.0(35 32 34 N+1 #Q 170 110 29.0|18 10 14 O= vA -80 10.0 30.0
24 2 3NO= oK -600 70 33.0|36 31 34 N+1 &J 170 110 29.0|22 6 24 O= vA -110 5.0 35.0
40 27 3NO= s A -600 7.0 33.0|23 3 24 N+1 %6 140 50 350|25 3 24 0= vA -110 5.0 35.0
10 16 3NO+1  ¢J -630 30 37.0(|39 28 2¢ N+1 +Q 140 50 350(39 30 24 O= *] -110 5.0 35.0
17 9 3NO+1 4A -630 3.0 37.0|41 26 3#0-1 s A 100 2.0 38.0|40 29 24 O= *J -110 5.0 35.0
12 14 44DS-4 vK -800 0.0 40.0|24 2 Pass 0.0 40.0|41 28 2NS-3 +Q -150 0.0 40.0
28 « D8732 29 « ED7432 30 & DKn3
Vast v DKn873 Nord vKn1097 Ost v DKn752
NS ¢+ D2 Alla *7 Ingen *7
*4 54 #8432
4EK96 &5 4 9865 a- 4 K87 4 E62
vK1092 vE64 v EK52 v D643 vE3 v 1098
*3 ¢ K97654 2 ¢ EKn10843 ¢EKD2 ¢ Knl109
#K863 #D105 #DKn106 #K82 #EDKN9 #K1065
«Kn104 « KKn10 « 10954
v5 v8 v K64
¢ EKn108 ¢ KD965 ¢ 86543
#EKN972 #E973 &7
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
21 7 4¢DO-3 &) 500 40.0 0.0 6 24 5vDV-3 4A 800 39.0 10| 6 24 6NV-1 v7 50 39.0 1.0
24 4 3NV-5 a4 250 38.0 20(42 15 5vDO-3 +¥3 800 39.0 10|36 35 6NV-1 vQ 50 39.0 10
40 29 3NV -4 a2 200 36.0 40|12 18 44DN= ¥v5 790 36.0 40| 1 29 5&V= vQ -400 36.0 4.0
9 19 3¢ O-3 v5 150 320 80|22 8 24DN= ¢A 670 340 6.0| 2 28 3NV+2 vQ -460 22.0 18.0
36 33 2NV -3 3 150 320 8025 5 44 N+1 ¢A 650 320 8.0 3 27 3NV+2 7 -460 22.0 18.0
42 14 3NO-3 v3 150 320 80| 9 21 5vDV-2 7 500 30.0 10.0| 9 21 3NV+2 v2 -460 22.0 18.0
5 23 3¢ O0-2 v5 100 24.0 16.0|14 16 4v V-2 *7 200 26.0 14.0|10 20 3NV+2 vQ -460 22.0 18.0
16 12 3¢ V-2 &4 100 240 160(26 4 4vDV-1 vJ 200 26.0 14.0(12 18 3NV+2 v2 -460 22.0 18.0
31 38 3v V-2 *2 100 240 16.0(37 34 5vDV-1 aA 200 26.0 140|119 11 3NV+2 v3 -460 22.0 18.0
35 34 2v V-2 a2 100 24,0 16.0|32 39 24 N+1 ¢A 140 220 18.0|22 8 3NO+2 +8 -460 22.0 18.0
37 32 2NV -2 3 100 240 16.0( 1 29 34 N-1 *A -100 13.0 27.0(25 5 3NO+2 T -460 22.0 18.0
2 26 3¢ O-1 a4 50 150 25.0| 3 27 34 N-1 v4 -100 13.0 27.0({26 4 3NV+2 v2 -460 22.0 18.0
22 6 2v V-1 &4 50 150 25.0|10 20 44 N-1 ¢A -100 13.0 27.0(32 39 3NO+2 45 -460 22.0 18.0
25 3 2NV-1 a2 50 15.0 25.0|17 13 44 S-1 vK -100 13.0 27.0(37 34 3NV+2 vQ -460 22.0 18.0
41 28 3NV-1 v7 50 150 25.0(19 11 44 N-1 *A -100 13.0 27.0({40 31 3NV+2 v3 -460 22.0 18.0
127 2¢ O= L) -90 7.0 33.0|36 35 44 N-1 v4 -100 13.0 27.0(41 30 3NV+2 v5 -460 22.0 18.0
8 20 2¢ O= @] -90 7.0 33.0|38 33 44 N-1 v3 -100 13.0 270(23 7 3NV+3 vQ -490 6.0 34.0
18 10 INO= L) -90 7.0 33.0|40 31 44 N-1 v3 -100 13.0 27.0(38 33 3NV+3 vQ -490 6.0 34.0
39 30 INO= &2 -90 70 33.0| 2 28 44DN-1 ¥K -200 20 38.0|42 15 3NO+3 ¥3 -490 6.0 34.0
11 17 2NV = vQ -120 20 38.0|23 7 44DN-1 v4 -200 2.0 38.0|14 16 6NV = &5 -990 1.0 39.0
13 15 2v V+1 &4 -140 0.0 40.0|41 30 44 S-2 *Q -200 20 38.0|17 13 6NV= vQ -990 1.0 39.0
31 4642 32 « E86 33 » EK3
Syd v EKn42 Vast v K1097 Nord vKD92
NS ¢ 7653 oV ¢ K92 Ingen ¢+ D7
*E4 #EK3 #9653
«ED 4 Kn10973 «DKn1073 492 4Kn96 #1074
vD876 v1093 v Kn8 v E6532 v74 v 105
¢EK8 ¢D ¢ Kn4 +D1083 ¢ K9543 ¢ E1082
#Kn532 £D876 #8654 #102 *K87 #ED102
& K85 & K54 « D852
v K5 vD4 v EKn863
¢ Kn10942 ¢ E765 ¢ Kn6
#K109 #DKn97 #Kn4
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr Ut Res Poéang
3 29 3NV-4 7 200 40.0 0.0(33 40 3NN+3 v¥5 490 40.0 0.0 1 33 4vN= vT 420 340 6.0
2 30 24 V-2 &A 100 380 20| 1 31 3NN+2 v3 460 21.0 190 2 32 4v N= v5 420 340 6.0
131 24 V-1 *A 50 340 6.0| 2 30 3NN+2 v2 460 21.0 19.0| 4 30 4v N= v5 420 340 6.0
15 17 24 O-1 ¢J 50 340 6.0| 3 29 3NN+2 v2 460 21.0 19.0|19 15 4v N= 5 420 340 6.0
42 16 24 O-1 v3 50 340 6.0 4 28 3NN+2 v4 460 21.0 19.0(24 10 4v N= T 420 340 6.0
13 19 24 O= *A -110 25.0 15.0(10 22 3NN+2 v2 460 21.0 19.0|39 36 4y N= vT 420 340 6.0
23 9 24 V= a2 -110 25.0 15.0(11 21 3NN+2 v8 460 21.0 19.0|42 17 4v N= v3 420 340 6.0
26 6 24 V= &A -110 25.0 15.0(13 19 3NN+2 v2 460 21.0 190| 5 29 3v N+2 v4 200 26.0 14.0
27 5 24 V= *A -110 25.0 15.0(15 17 3NN+2 v2 460 21.0 19.0| 3 31 3v N+1 v5 170 18.0 22.0
33 40 24 V= a2 -110 25.0 15.0(18 14 3NN+2 3 460 21.0 19.0| 8 26 3v N+1 &4 170 18.0 22.0
37 36 24 V= a2 -110 25.0 150(20 12 3NN+2 v3 460 21.0 19.0(12 22 3v S+1 v7 170 18.0 22.0
4 28 24 V+1 42 -140 9.0 310|123 9 3NN+2 v2 460 21.0 19.0(14 20 2v N+2 ¥5 170 18.0 22.0
7 25 24 O+1 #J -140 9.0 31.0|24 8 3NN+2 +v3 460 21.0 19.0|21 13 2v N+2 &7 170 18.0 22.0
10 22 24 V+1 46 -140 9.0 31026 6 3NN+2 v2 460 21.0 19.0|27 7 3vy N+1 *T 170 18.0 22.0
11 21 24 O+1  ¢J -140 9.0 31.0|37 36 3NN+2 v3 460 21.0 19.0(40 35 3v N+1 &5 170 18.0 22.0
18 14 24 O+1 ¢J -140 9.0 31038 35 3NN+2 v5 460 21.0 19.0|11 23 3vS= &5 140 9.0 31.0
20 12 24 O+1  #J -140 9.0 31.0|39 34 3NS+2 «Q 460 21.0 19.0(28 6 3v N= *A 140 9.0 31.0
24 8 24 O+1 #A -140 9.0 31.0|41 32 3NN+2 8 460 21.0 19.0|16 18 4v N-1 *A -50 3.0 37.0
38 35 24 V+1  ¢7 -140 9.0 31.0|42 16 3NN+2 ¥3 460 21.0 19.0|125 9 4vy N-1 *A -50 3.0 37.0
39 34 24 O+1 ¢ -140 9.0 31.0| 7 25 3NN+1 +38 430 10 39.0|34 41 4y N-1 oT -50 3.0 37.0
41 32 24 V+1  #A -140 9.0 31.0|27 5 3NN+1 8 430 1.0 39.0|38 37 4vS-1 +3 -50 3.0 37.0
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34  E9853 35 104 36 92
Ost v K832 Syd v 87 Vast vD107654
NS ¢ E7 ov + Kn76 Alla + 86
&E9 #EKD1085 K83
4 KDKn7 4106 4 K862 4 EKN975 a4 « EKKn103
vyE764  vKn vE1095 v6 v EKn v K98
+3 + KD8542 ¢+ D8532 ¢ 109 ¢ EKD105432 ¢ 7
#KKn82 #10754 »- #Kn9732 #Kn5 +D1074
442 «D3 « D8765
vD1095 v KDKn432 v32
¢ Kn1096 ¢+ EK4 + Kn9
#D63 64 #E962
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
21 13 2v S+1 +3 140 40.0 00| 9 27 4v S= 2 420 390 10|22 14 4v0O-3 +J 300 40.0 0.0
19 15 14 N+1  vJ 110 380 20|29 7 4vS= 2 420 39.0 10| 9 27 6NO-1 *A 100 36.0 4.0
12 22 3¢DO-1 44 100 350 50(13 23 2v S+2 +5 170 350 50(15 21 6NO-1 *A 100 36.0 4.0
34 41 44 V-2 ¢+ A 100 350 50(26 10 3v S+1 2 170 350 50(28 8 44 0-1 v3 100 36.0 4.0
16 18 14 N= v] 80 31,0 9.0 5 31 3vS= +3 140 320 80| 3 33 5¢ V+2 49 -640 31.0 9.0
39 36 1a N= vJ] 80 310 90(17 19 44 O-1 ¢ A 100 30.0 10.0(42 18 5¢ O+2 3 -640 31.0 9.0
2 32 2NV-1 43 50 27.0 130| 3 33 5¢vS-1 +3 -50 21.0 19.0| 4 32 3NO+2 %6 -660 25.0 15.0
11 23 3NV-1 a4 50 27.0 13.0| 6 30 4v S-1 2 -50 21.0 19.0|17 19 3NO+2 %6 -660 25.0 15.0
24 10 24 O= v9 90 240 16.0|15 21 4v S-1 +3 -50 21.0 19.0|20 16 3NO+2 %6 -660 25.0 15.0
14 20 4v S-1 +3 -100 19.0 21.0({20 16 4v S-1 2 -50 21.0 19.0|29 7 4NO+1 %6 -660 25.0 15.0
25 9 1a N-1 v] -100 19.0 21.0(22 14 4v S-1 +3 -50 21.0 19.0| 5 31 3NV +3 8 -690 20.0 20.0
27 7 4v S-1 +3 -100 190 21.0|25 11 4v S-1 46 -50 21.0 19.0|12 24 3NO+4 3 -720 15.0 25.0
42 17 14 N-1 v3 -100 19.0 21.0({28 8 4v S-1 +5 -50 21.0 19.0|35 1 3NV+4 v3 -720 15.0 25.0
1 33 3&#V-= 43 -110 12.0 28.0(39 38 4v S-1 +3 -50 21.0 19.0|40 37 3NV +4 v3 -720 15.0 25.0
3 31 2¢ V+1  #A -110 120 28.0( 2 34 4v S-2 2 -100 8.0 32.0(41 36 4NV +3 v6 -720 15.0 25.0
28 6 3aV= v2 -110 12.0 28.0| 4 32 4y S-2 2 -100 8.0 32025 11 6¢ V= 49 -1370 9.0 31.0
4 30 3vS-2 2 -200 8.0 32.0|12 24 3NN-2 a2 -100 8.0 32.0|39 38 6¢ V= 49 -1370 9.0 31.0
38 37 24DV +1 ¢A -280 6.0 34035 1 4vDS-1 46 -100 8.0 320| 6 30 6NO= v3 -1440 5.0 35.0
529 34 N-4 vJ] -400 4.0 36.0|42 18 3NN-2 v3 -100 8.0 32.0|13 23 6NV= a2 -1440 5.0 35.0
8 26 4vDS-2 K -500 2.0 38.0|41 36 4vS-4 +3 -200 20 38.0| 2 34 6NV +1 v7 -1470 1.0 39.0
40 35 3vyDS-3 ¢7 -800 0.0 40.0(40 37 44DN-2 T -300 0.0 40.0(26 10 6NV +1 v5 -1470 1.0 39.0
37 # K62 38 « Kn96 39 @-
Nord vD973 Ost v42 Syd v92
NS ¢75 ov ¢ E62 Alla ¢ K8542
#DKn85 #ED752 #EDKn932
a74 « EDKn10 4 E1043 4 K5 462 4« DKn109754
vKKn1084 v2 v 97 v KDKn853 vDKn8754 vK
+ E86 4932 ¢ DKn10874 ¢ K5 ¢ EKn7 + D93
#E62 #K10943 +Kn »K83 »76 #105
#9853 « D872 « EK83
v E65 vE106 vE1063
¢+ KDKn104 493 ¢ 106
&7 £10964 K84
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 34 2v V-2 *7 100 340 6.0(27 11 4v0O-1 a2 100 39.0 10| 1 39 6&4N= «Q 1370 36.0 4.0
5 33 4v V-2 *7 100 340 6.0(42 19 4v0O-1 v3 100 39.0 10| 2 38 6&4N= «Q 1370 36.0 4.0
10 28 3NO-2 ¢+ K 100 340 60(30 8 3vO= +9 -140 350 50(11 29 64S= ¢A 1370 36.0 4.0
14 24 54D O-1 +Q 100 340 6.0[(40 39 2¢v O+1 +9 -140 350 50(19 21 64 N= aJ 1370 36.0 4.0
29 9 34 0-2 ¢+ K 100 340 6.0 3 35 3v O+l #T -170 28.0 12.0(28 12 64 S= vQ 1370 36.0 4.0
41 38 3NV-2 &5 100 340 60| 7 31 29 O+2 &T -170  28.0 12.0(14 26 3NS+1 vQ 630 27.0 13.0
42 19 34DO-1 ¥3 100 340 6.0(10 28 3vy O+1 &T -170 28.0 12.0(30 10 3NS+1 vQ 630 27.0 13.0
1 37 440-1 + K 50 220 18.0(14 24 29y O+2 &T -170 280 120(31 9 3NS+1 vQ 630 27.0 13.0
6 32 3#0-1 ¢+ K 50 220 18.0(16 22 29y O+2 %6 -170  28.0 12.0(42 20 3NN+1 3 630 27.0 13.0
13 25 34 O-1 +Q 50 220 18.0(18 20 2¢ O+3 +9 -200 220 180(| 5 35 3NS= 46 600 17.0 23.0
30 8 3NV-1 *7 50 220 18.0(36 2 5#4DN-3 v¥K -500 20.0 200 8 32 54 N= vK 600 17.0 23.0
40 39 34 0-1 ¢+ K 50 220 180| 1 37 4vO= *6 -620 9.0 31.0(24 16 5# N= vK 600 17.0 23.0
36 2 INN-1 &9 -100 16.0 24.0( 4 34 4v O= &T -620 9.0 31.0|27 13 5#S= vJ] 600 17.0 23.0
3 3 3#0= + K -110 12.0 280(| 5 33 4v O= &T -620 9.0 31.0(37 3 5#N= vK 600 17.0 23.0
21 17 34 0= +Q -110 120 28.0( 6 32 4v O= &T -620 9.0 31.0|41 40 3NS= 46 600 17.0 23.0
26 12 2y V= L Jo) -110 12.0 28.0(13 25 4v O= &T -620 9.0 31.0| 6 34 34aDO-1 &4 200 10.0 30.0
16 22 2NV = &5 -120 7.0 33.0|21 17 4v O = &9 -620 9.0 31.0| 7 33 34 S+3 v3 170 6.0 34.0
18 20 2NV = *7 -120 7.0 330|123 15 4v O= *6 -620 9.0 31.0|17 23 44 S+2 46 170 6.0 34.0
27 11 24 S-3 vT -300 40 36.0(26 12 4v O= &6 -620 9.0 31.0(22 18 44 S+2 vQ 170 6.0 34.0
23 15 3NV= v3 -400 20 38029 9 4v 0= &T -620 9.0 31.0| 4 36 54 N-1 +Q -100 2.0 38.0
7 31 2¢4DS-3 &2 -800 0.0 40.0|41 38 4v O= +9 -620 9.0 31.0|15 25 4v S-3 46 -300 0.0 40.0
40 498754 41 « EK109 42 & Kn74
Vast vD74 Nord vKn76 Ost v 1076
Ingen ¢ E105 ov 4962 Alla ¢+ D7
#K8 &E86 #Kn7432
a2 « EKD63 4« D85 4 Kn742 «D9 4103
v EKn10965 v K32 vE952 K3 vEKKn985 v4
+ KD76 +82 ¢85 + EKKn74 ¢ 104 ¢ EK9652
«D3 *E62 #Kn752 %93 #K85 #D1096
4 Knl0 463 + EK8652
v8 vD1084 vD32
¢ Kn943 + D103 ¢ Kn83
#Kn109754 #KD104 &E
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 39 5vV-1 a4 50 310 9.0|12 30 3¢ O-2 &K 200 40.0 0.0| 5 37 34DS+1 vA 930 40.0 0.0
2 38 6y V-1 ¢A 50 31.0 9.0|31 11 INS+2 +8 150 380 20| 7 35 44 O-2 s A 200 380 20
4 36 6y V-1 ¢+ A 50 310 90| 8 34 INS+1 &5 120 340 60| 8 34 24 S= vA 110 340 6.0
5 35 6y V-1 ¢ A 50 310 9.0(16 26 INS+1 v5 120 340 6.0[12 30 24 S= vA 110 340 6.0
7 33 6v V-1 3 50 31,0 9.0|28 14 INN+1 &8 120 340 6.0|28 14 24 S= vK 110 340 6.0
8 32 5v V-1 49 50 310 90| 1 41 2¢vyN= ¢ A 110 29.0 110| 1 41 3v V-1 a4 100 26.0 14.0

Goteborgs BF, DM-mixed 2012-02-11, sida 6 av 7




26

18
40
34
29
25
13

10
20
21
16
12

AERMROOOD
ccccece>
<LK LK L L L L

[ENNENAR

I
<
<
1

50

50

50

-420
-420
-420
-420
-420
-420
-450
-450
-980
-980
-980

9.0|42 21 2v N= v3 110 29.0 11.0

9.0| 7 35 INV-1 *2 100 25.0 15.0

9.0|129 13 2¢ O-1 46 100 25.0 15.0

9.0| 6 36 INN= *5 90 22.0 18.0
25.0| 2 40 3v N-1 *A -50 15.0 25.0
250( 5 37 2¢vS-1 +8 -50 15.0 25.0
250 9 33 2NS-1 +8 -50 15.0 25.0
25.0|15 27 2v N-1 +9 -50 15.0 25.0
250(20 22 2v S-1 +8 -50 15.0 25.0
250(38 4 INS-1 +3 -50 15.0 25.0
33.0( 3 39 INV= &6 -90 8.0 32.0
33.0|18 24 3v S-2 45 -100 5.0 35.0
38.0|25 17 2NN-2 *A -100 5.0 35.0
38.0(23 19 INV+1 4 A -120 2.0 38.0
38.0|32 10 3# N-3 ¢ A -150 0.0 40.0
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